ZONE | REV. REVISION DESCRIPTION ECN NO. DATE
F | REMOVED "VOLTAGE DROP" AND "MECHANICAL SHOCK RESISTANCE" ECN0047145 | 03-DEC-2008
ROW FROM PERFORMANCE CHARACTERISTICS TABLE:
REMOVED "WITH INSERTS" FROM WEIGHT ROW IN SAME TABLE:
ADDED INFO TO "DIELECTRIC STRENGTH" AND "INSULATION RESISTANCE"
ROW IN SAME TABLE:
CYCLED 30 MINUTES AT 400% RATED CURRENT WAS COMPLIES WITH SAE J553 IN
ENDURANCE ROW IN SAME TABLE:
96 HOURS PER SAE J1455 WAS MIL-STD -202 METHOD 101D IN SALT SPRAY
ROW IN SAME TABLE:  C.AR.
(©2.0)
SEE NOTE 1
PERFORMANCE CHARACTERISTICS
VOLTAGE RATING 30 VDC/120 VAC
oo 200% OV ERLOAD 5-55 SECONDS
SEENOTET ULTIMATE TRIP % AT 77° F RATED CURRENT
MINIMUM 100%
MAXIMUM 135%
INTERRUPT CAPACITY SAE J553 AND ABYC-E11
ENDURANCE CYCLED 30 MINUTES AT 400% RATED CURRENT
DIELECTRIC STRENGTH 1500 VAC MINIMUM MIL-STD-202 METHOD 301
INSULATION RESISTANCE 100 MQ MINIMUM MIL-STD-202 METHOD 302 CONDITION B
VIBRATION RESISTANCE 10G MIL-STD-202 METHOD 204 CONDITION A
SALT SPRAY 96 HOURS PER SAE J1455
IGNITION PROTECTED SAE J1171
WEATHERPR OOF SAE J553
WEHGHT 47 GRAMS MAX.
UL LISTED E 36869
=
NOTES:
| 243 1. DIMENSION DOES NOT INCLUDE SEALING GASKET.
1.181 i A
(349 ) PEIALA OPTIONAL
g?ﬁ%EE?R #10 SCREW #8-32 UNC-2B THREADED LOCKING
) MOUNTING BUSHING FURNISHED ONLY
WASHER FOR 10 SCREW WHEN SPECIFIED ON ORDER. (2 PLACES)
STYCAST SEAL (2 PLACES)
(2 PLACES)
# 10-32 UNF - 2B NUT
(2 PLACES)
#10-32 UNF - 2A TERMINAL
(2 PLACES)
7854-18-60 0 7854-18-60-1
EYELET FOR #10 SCREW 7854-18-50 50 7854-18-50-]
(2 PLACES) PART NUMBER 7854-18-40 40 7854-18-40-1
fg‘g AE%IA(;EICODE 7854-18-35 35 7854-18-35]
7854-18-30 30 7854-18-30-]
7854-18-25 25 7854-18-25-1
(45°) 7854-18-20 20 7854-18-20-|
5 == 7854-18-17% 17% 7854-18-17V4-]
—o 7854-18-15 15 7854-18-15-1
\ - 7854-18-12V 12V 7854-18-12V5-]
PART NO. WITH
, PARTNO. | AMP RATIN
/’ © G| THREADED INSERT
R4 FOR REFERENCE ONLY, CHECK LATEST REVISION BEFORE USE. e e,
V A TRCORETLT S GO e | ot sonpo g
VIEW B-B DATE 30-AUG-2007 OR AGAINST THE INTERESTS OF ANY OF ITS AFFILIATED
/ ROTATED 225° CLOCKWISE ENGINEER COMPANIES OR WHOLLY OWNED SUBSIDIARIES. [/ £
> CRCUT BREAKER
DATE 30-AUG-2007 TOLERANCES AUTO RESET
APPROVED DECIMALS ANGLES
P BERG
DATE 30-AUG-2007 SIZE | DWG NO. REV.
7854-18
V.RAMIREZ DONOT | 1HiRD ANGLE C F
SCALE | b JECTION =
DATE 30-AUG-2007 DRAWING SCALE 1:1 | SOLIDWORKS | SHEET 1OF I
4 3 DEVICE: 7854-18 PROJECT: 75 1




